0 o LO o
(0] o [o0] [o0]
< < < <
1 1 1 I+31.5
7B X &
-z
£ 8 R
AT
& S
:l:’ B A37.2 = & =
@25.62 K # &
SRARRUEES
:D 52 5Ey ©42.3 Z5iuisa
NHEEQR
v 35.6 A( Z & &)
R, N H B
== } T FE RS 225'73%%%?5
o 12,3 forELelL
L . B (o8 x
1 mzomes 198 LdvEEs
——————— - L37.23s7==%n
e} T on = F
AN A - 04 £ P
A B o= T 1 = ®
S B®oB B L = = ®
® 5 @ B ? hvi &
K BMEBE 2 # T
565.7 X RE o BXERT + £a o] >
v MmO - 5 &
N —+31.0 %
*A 2: FE @ BERERE TV ~ homil s 31 O
o  FErRg Qe
A *aa it 2 BRI 31 3)
&+ * 3 u S - A
+ FUA %A o £ = #
. X 3 LY O I ]
‘1+\|s65.8 @ PHE - REE il i %
] ® AR - AREE o o = %
E m PN A 'y E " B
£ ® ® 'O e B ®
H ® s = w0 b
£ g i 5 ] X T & 8 B
E % EE s Ros a 1
] ) 2 & = B @
AN (W
x x ® B (
..... - 4 "
It T % '
566.3 B = @
& r ® /,
o tﬁw)\mﬁ%
y 18 - HEkE
S 7o B s
S HUIURIUKN zz S
® BoOo#=E B S BAO - 1BSO
B o R b B OR-H R
m DB O
=0 E B —_— %
—
8@ O 8 B
= 25
—_— F % E
——————— ® % @
= &
T (B®ZO) B oEE | - -
- B BRTOEHR T GERD” matoss
— —— sE-OmE L0 Jsurn i
5% RUERB
L
b=l 5
PR~ ] 1 1 s m &
= B —_— T — BB E
e B S ERE =% 2 m
T Lo I —
SRR 1 ~ | - x5 =
e A N
NI ®& @D | B o« =
e T 1B & —_——— # th B’
+30.5 —+30.5 e < oo B . EH-EETm
o B8 P
e —  JEEEOSTR —_—— — XxF-E(DE
—————— %*“Eﬁﬁﬁ — —F B ®
I [ Ny pV
a5 SRR B
1" & AV
N (e}
, zoftm | Ll F—"
| Clewa |,
v e |7 YooY
g t (@ it
ES N
M sy | @ o= " ;
o |7B e a [f& |4 “ Lot
h 20| b | E T leus
y Lo |E AT T|E
% /@ modk C w OB
PN )
ERHR
H
i
S
e
AN
ey
i
i
+30.05 5 S 5 5+30.0
o o o o0 0
0 b b Y Y ITEEAREZEIHRAMR
B B Frl7 3 E R FWHR . = = , -
" M ® B FR17% 3A B R R WA 1:2.500 COMRRRAS. BLHBREONEERITHLLOTHS 3 [ 4 R E B B £ 2 B 1
*ﬁ g; EFEEZ 9£|-: 4 B %lﬁlﬁﬁrﬁﬁﬁﬁ 2m (E’]gﬁ%) :'12955/.&%80%] =] ]7 1N =3 .-l,
s T TH314£ 28 0 50 100 . 200 . 300 . 400 500m =

£ & # B @B M oF K AKX = #



